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. Suppase an individual's MRS (of steak(x goods) for beer(y goods) ) is 2:1. That is, at the current
consumption choices he or she is willing to give up 2 beers to get an extra steak.  Suppose also that the
price of a steak is 1 and a beer is $0.25.  Then in order to increase utility the individual should
a. buy more steak and less heer. b. buy more beer and less steak.
¢. continue with current consumption plans. d. not enough information to answer the question.

2. An increase in an individual's income without changing relative price will
a. rotate the budget constraint about the X-axis. b. shift the indifference curves outward.
¢. shift the budget constraint outward in a paralle] way d. rotate the budget constraint about the Y- axis.

3. The slope of the budget constraint line is
a. the ratio of the prices (P/F,). b. the negative of the ratio of the prices (F/P,).
c. the ratio of income divided by price of ¥(I/F,). d. none of the above.

4. If an individual has a constant MRS of shoes for sneakers of 3/4 (that is, he or she is always willing to
give up 3 pairs of sneakers to get 4 pairs of shoes) then, if sueakers and shoes arc equally costly, he or she
will

a, buy only sneakers. B.buy anly shoes.

c. spend his or her income equally on sneakers and shoes. D.wear sneakers only 3/4 of the time.

5. If the prices of all goods increases by the same proportion as incame, the quantity demanded of good .X
will

a. decrease. B. increase. C. remain unchanged.

d. change in a way that cannot be determined from the information given.

6. The relationship between changes in income and purchase of a good indicates
a. whether the good is a luxury or necessity. B.whether the good is normal or inferior.
¢. whether the good is a complement or substitute.  D. both a and b.

7. Which of the following costs always declines as output increases?
a. average cost b. marginal cost
c. fixed cost d. average fixed cost ]

8. A firm uses two factors of production.  Irrespective of how much of each factor is used, both factors
ahways have negative marginal products which tmply that

a. isoquants are relevant only in the long run b. isoguants have negative slope

c. isoguants are concave d. isoguants can become vertical ot horizontat

~

9. When the average product is decreasing, marginal product
a. equals average product b. is increasing c. exceeds average product
d. is decreasing

101. The average total cost to produce 100 conkies is $0.25 per cookie.  The marginal cost is constant at
$0.10 for all cookies produced.  The average tolal cost curve is
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a. falling b. rising c. neither rising or falling  d. less than average fixed cost.

1. Which of the following is NOT an expression for the cost minimizing combination of inputs?
{MRTS=marginal rate of technical substitution}

a. MRTS=MP /MPy b. MP /w=MP/r

c. MRTS=w/r d. MP, /MP, = wir

£2. The cost-cutput elasticity equals 1.4, This implies that
a. therg are neither economies nor diseconomies of scale.

b. there are economies of scale

. there are diseconomies of scafe

d. marginal cost is less than average cost

13. 11 a graph of a perfectly competitive firm shows that the MR=MC point occurs where MR is above
AVC but below ATC,

a. the firm is earning negative profit. and will shut down rather than produce that level of output.

b. the firm is earning negative profit, but will continue to produce where MR=MC in the short run.

c. the firm is stifl eaming positive profit, so long as variable costs are covered.

d. the firm can cover all of fixed costs but only a portion of variable costs,

1d. Use the following two statlements in answering this question:

\. For all Giffen goods the substitution effect is smaller than the income effect.

1. For all inferior goods the substitution effect is larger than the income effect.
a. Land I are true. B. [ is true and 1] is false. C.1is false and 1l is true..
d. land U are false.

15. What happens il price increases above the market equilibrium price?

a. Demand Shifts out. B.Supply shifts in.
C. Quantity demanded decreases, and quantity supplied increases and price falls.
d. Quantity demanded increases, and quantity supplied decreases.

i6.  According to the low of diminishing returns

a. the total product of an input will eventually be negative.
b. the total product of an input will eventually decline.

c. the marginal preduct of an input will eventually decline
d. none of the above. :

17. The Concentration Ratio measures

a. the number of firms in a market

h. the percent of total output in a market produced by the largest firms
c. the percent of total employees in a market hired by the largest firm
d. the alcoholic content of a drink '

18. I a good is a Giffen good, the elasticity of demand must be
a. Negative b. minus one ¢ one d. positive

19. The firm’s expansion path records

a. profit-maximizing cutput choices for every possible price,

b. cost-minimizing input choices for alt possible output levels for when input rental rates expand along
with production. :

¢. cost-minimizing input cheices for all possible output levels for a fixed set of input prices.

d. cost-minimizing inpui choices for profit-maximizing output levels.

20. If the demand faced by a firm is elastic, selting one less unit of output will
a. increase revenue. b. decrease revenue.  c¢. keep revenues constant. d. decrease price.
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I. Over iime, the wealth of sociely increases and payments tcchnologles get more efficient.
What is the effect on money demand of these two changes?

a. the overall effect is ambiguous

b. money demand rises proportionately to the rise in wealih

¢. money demand rises, but less than propomonately 10 the rise in wealth
d. money demand declines

2. Which of the following statements about M and M2 is true?

a. demand deposits are not part of M1, b. Savings deposits are part of M2.
¢. Ml is larger than M2 d. M2 is more liquid than M.

3. The opportunity cost of holding currency decreases when

a. the interest rate on bonds decreases b. income decreases

c. the interest rate on money decreases d. wealth decreases

4. Under a situation of asset market equilibrium,

a. the quantity of money supplicd equals the quantity of money demanded.

b. The quantity of nonmonetary assets supplied equals the quantity of monetary assets
demanded.

¢.  The quantity of money supplied equals the quantity of nonmonetary assets supplied.

d. The quantity of money supplied equals the quantity of nonmonetary assets demanded.

5. One of the first organizations 10 investigate the business cycle was
a. the Federal Reserve System. B. the National Bureau of Economic Research
c. the Brookings Institution d. the Council of Economic Advisors

6. The tendency of many different economic variables ta have regular and predictable patterns
across industries over the business cycle is called
a. comovement b. persistence ¢. recurrence d. periodicity

7. An adverse supply shock would cause the FE line to
a. remain unchanged b. shift to the right c. shift to the lefi
d. remain changed if the shock is temporary; shift to the right if the shock is permanent.

8. Any change that reduces desired saving relative to desired investment (fora given levei of
output) causes the real interest rate to _____ and shifts the IS curve 5
a. decrease; down b. decrease; up c. increase; down d. increase; up

9. AAA company stock has a higher expected rate of return than ZZZ company stock.  All
else being equal, you would expect that relative to ZZZ, AAA company stock provides

a. less risk and less liquidity b. less risk and more liquidity

¢. more risk and less liquidity d. more risk and more liquidity
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10. Which of the foHowing is most likely to lead to an increase of 1% in the nominal demand

for money?
a. an increase in real income of 0.5% b. a decrease in real income of 0.5%
¢. a decline of 1% in the price level d. an increase of 1% in the price level

t1. Suppose the economy’s production function is v=AKYK®?.  If K=2000, N=100, and
A=1, then Y=246. 1f Arises by 10%, and K and N are unchanged, by how much does’Y
increase?

a. 5% b. 20% ¢. 10% d. 15%

i2. When a person gets an increase in current income, what is likely to happen to
consumption and saving?

a. consumption decreases and saving decrcases b. consumplion increases and saving
decreases

¢. constimption decreases and saving increases d. consumption increases and saving

increases

13. The fraction of additional current income that a person consumes in the current period is
known as the '

a. saving rate b. consumption-smoothing moiive

c. marginal propensity (o consume d. consumption deficit

14 if the marginal product of capital does not change as the amount of capital increases, a
figure showing the relationship between output and apital

a. is a vertical line b. is a straight line with a slope of zero

¢. is a straight line with constant upward stope

b. slopes upward with a slope that declines as the amount of capital increases.

—

5. The elasticity of output with respect to capital

is always greater than one

is the inverse of the elasticity of output with respect to labor

is the increase in output resulting from an increase in the capital stock

is the percentage increase in output resulting from a 1% increase in the capital stock

pe o

16. Over the past year, productivity grew 1%, capital grew 2%, and labor grew 2%.  If the
elasticities of output with respect lo capital and labor are 0.3 and 0.7, respectively, how much
did output grow?

a. 3% b. % c. 4% d. 2%

17. The growth accounting equation is
a. Y=AF(K, N) b. AY/Y=AA/A + s AK/K + anAN/N
c. Y=A a,K ayNd. AY/Y=AA/A - a,AK/K - ayAN/N

18. A good that is used as a medium of exchange as well as being a consumption good is
called
a. a commodity money  b. a legal tenderc. a barter money d. a debased money

19. Desired national saving equals
a, Y-I-G b. 144G e CH 4G d.Y-CAG

20. Total factor productivity growth is that part of economic growth due 1o
a. capital growth times labor growth b. capital growth less labor growth
c. capital growlh plus labor growth d. neither capital growth nor labor growth
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